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QUESTION 1

When a Belt utilizes a problem solving approach that is automated thus requiring no particular understanding for use it is
called

A. No Brainer

B. Mistake Proofing
C. Auto-defective
D. Self-Regulating

Correct Answer: C

QUESTION 2

A is a graphical presentation of sample data that shows the number of times that a data point is a
specific number.

A. Fishbone Diagram
B. Histogram

C. Pie Chart

D. Box Plot

Correct Answer: B

QUESTION 3

A Monitoring Plan put into place at the conclusion of a project will provide for adequate systems with key metric
readouts indicating out-of-spec conditions.

A. True
B. True

Correct Answer: A

QUESTION 4
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To reduce the people or operator introduced defects into a process it is best if a Belt can design and implement a
means of into the process.

A. Measurement automation
B. Operator alertness

C. Full Automation

D. Constant supervision

Correct Answer: C

QUESTION 5

One of the primary deliverables from performing a SIPOC is to begin to understand which inputs have the greatest
affect on the most valued outputs.

A. Business\\'s
B. Employee\\'s
C. Management\\'s
D. Customer\\'s

Correct Answer: D
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